il
W
St
%
I

1. TE4
THE4 BERE3E/NAHEG LT (P25—P28) ITL#E
T4 FEIR B IR KIS B HETHISE
2. THEHNE
1)  HEI4 JURIIERE ST LESE i
2) £ I & PCHIH
3) T i 468 H H F0 T4 3H20H
= SFn 84 6H30H
4) TEyE

ELAma  JuN TR )R




B
T
iy
i
I

TH4 | BERE3FRABEGEST (P25—-—P28) T.H

TEHEX Sy - THE - R H A iR
v ) - Mg BT X
THHRYEL X
TR AT RUE T X BRI T 0.95 t

PL SM400A 6<<t=25 ;

BYEI T 0. 006 t
PL SM400A t=4.5 ;

BYEI T 0. 003 t
PL SM400A t=3.2 ;

BYEI T 0. 001 t
PL SS400 t=6 ;

BYEI T 0.16 t
PL SS400 t=3.2 ;

BYEI T 0.18 t
PIPE STK400 ¢42.7X2.3;

BYEI T 0.15 t
PIPE STK400 ¢21.7X1.9;

BYEI T 0.03 t
L SS400 6X75X75 ;

BYEI T 0.61 t
L SS400 6X65X65 ;

BYEI T 0.26 t
L SS400 6X50X50 ;

BYEI T 1.4 t
CH SS400 5X 100X 50 ;

BYEI T 0. 05 t
CH SS400 6X 125X 65 ;

BYEI T 0.84 t
H SS400 175X 175X 7.5%X 11 ;

BYEI T 0.3 t
FB $S400 9% 90 ;

BYEI T 0.04 t

FB SS400 6X90 ;

TAZIEE LN )R




il
W
St
%
I

TH4 | BERE3FRABEGEST (P25—-—P28) T.H

LKy - LA - FER WAL ¥ =& & il il 2

ﬂlj“

BT 0. 006 t
FB $S400 6X50 ;

BT 0.05 t
FB SS400 4.5X50 ;

BT 0. 003 t
FB SS400 4.5X25 ;

BT 0.03 t
RB SS400 ¢ 22 ;

BT 0. 003 t
RB SS400 ¢ 16 ;

BT 0. 003 t
RB SS400 ¢ 13 ;

VRN T 1.2 t
CHPL SS400 t=3.2 ;

Vb fE A1l DTy b 123 HH
BN SS400 M16X50 (UN, 2W) Av¥ih ;

Vb fE A1l DTy b 324 HH
BN SS400 M16X 45 (UN, 2W) Av¥ih ;

WARE 7223 syl 3 A
BN SS400 M16 X 45 (UN, 1W, 1SW) Ay & ;

Vb AE A1l DTy b 16 HH.
BN SS400 M16X40 (UN, 2W) Av¥ih ;

Vb AE A1l DTy b 324 HH
BN SS400 M10X 35 (UN, 2W) Av¥ih ;

Vb AE A1l DTy b 18 HH.
BN SS400 M10X 30 (UN, 2W) Av¥ih ;

Vb AE A1l DTy b 724 HH
BN SS400 M10X 30 (UN, 1W, 1TW) Av%&h ;

U Wb =Ty b 81 Az
UB SS400 M10(32C) Avkih ;

U Wh-Fob 162 L
UB SS400 M10(15C) Avkih ;

He'y 12 &S
SWRMS ¢ 5 X 36 Ay (1=/uiv) ;

=

=

=

=

=

=

=

o FASGBE ST




PR AR E

T
P

TH4 | BERE3FRABEGEST (P25—-—P28) T.H

= S N O A | B Az ¥ = & #A #m il N BN
TA=K Wb 202 N
M16X 125 Ay¥dh ;
My 42 A
SS400 M4 X8 Ay¥dh (2=mAv¥)
2 VA L Vs N 6 1
40X 3X 565 ;
2 VA L Vs RN 6 1
25X 3X60 ;
THEgET = 1 620, 600 | Av¥ 4.6 t
HDZT77 ;
Aok 0.2 t
HDZT63 ;
Aok 1.6 t
HDZT49 ;
TEE = 1 1,583,212 |RUEEBFBE 1 =
SEESiE T 2 1 645, 950
T T = 1 4,062, 774
THEHE =Y 1 954, 732
(T RAERAT) 2 1 5,017, 506
279G 5 = 1 234, 069, 029
T 358 ik T Y 1 100, 170
ik T =Y 1 100, 170 | #Gik 6.3 t
PCIE T = 1 194, 614, 723
® Ay auMTRUE T = 1 82, 880, 576 | AMvva HTHRIE 5 A
(P25~P26£%[H)

4 FASGBE ST




il
W
>
%
I

TH4 | BERE3FRABEGEST (P25—-—P28) T.H

ﬂlj“

LKy - LA - FER WAL ¥ =& & il il 2

SD345 D13~D22 40-12-25(20) (5.98) 2200kN (2
25t) 4 (12S12. 7B) ;
K AM YA HTRLUE 5 N
(P26~P27#[)
SD345 D13~D22 40-12-25(20) (5-98) 2200kN (2
25t) 4 (12S12. 7B) ;
K AM YA HTRLUE 5
(P27~P28%% )
SD345 D13~D22 40-12-25(20) (5-98) 2200kN (2
25t) 4 (12S12. 7B) ;
Htlas BLAE R 1 X
e A A=) 1, 044 i
N

P

M12X 60 ;
% bl V% 24
DI3H M12 D19 X50 ;

FK T = 1 40, 720, 000 | 2" A7k 5 1#
(P25R)
PR W3R (FTEh) R J) 850kN ;

S 5 1
(P26L)
PR W3R (B E) HKRILT) 800N ;

S 5 1
(P26R)
PR W3R (B E) HKRILT) 900kN ;

S 5 1
(P27L)
PR W3R (B E) HKRILT) 900kN ;

S 5 1
(P27R)
PR W3R (B E) KR T) TI0kN ;

S 5 1
(P28L)
PR W3R (FTEh) R J) 850kN ;

o

o

o

o

o

-4 - E ta2@d Ui




it
W
=
=
I

TH4 | BERE3FRABEGEST (P25—-—P28) T.H

TSy « TfE - FER H A7 # & A bl A iR
ZREE T (BEERMTALRR =X 40, 990, 200 | HTZER% 1 2V
K AN YIUNT
PRI - B L 2 17,773,352 | $kf5 0.77 t
SD345 D13 ;
BEm 5. 82 t
SD345 D16~25 ;
7L ARSI IR = 24 %N
SD345 D13 AL L=30mm ;
VIR 60 m3
30-12-25(20) (F5®) HOKEBAF Y 2/7)-MZM
TG
PCh-7" 1,585 m
Y VAN N YAFA BTOKN (60t) (1S21. 8) ;
BXIE 165 =7
Y VAN VY YATA BTORN (60t) (1S21.8) [ EAH (
R
HWET 2 8,772,995 |8k 0. 67 t
SD345 D13 ;
ki 5. 63 t
SD345 D16~25 ;
/7Y =} 48 m3
30-12-25(20) (F5®) HOKEBAFY 2/7)-MZM
TG
PCh-7" 298 m
Y VAN N YAFA BTOKN (60t) (1S21. 8) ;
EXAE 32 =7
Y VAN VY YATA BTORN (60t) (1S21.8) [ EAH (
AR
TATRA 1251 T = 3,477,600 | PEHGEEGILEEE 4 #H
(P25)
975kN L=2.516m ;
TATRA 1251 4 A
(P28)

975kN L=2. 566m ;

TAZIEE LN )R




il
W
>
%
I

TH4 | BERE3FRABEGEST (P25—-—P28) T.H

ﬂlj“

TEHX4y « Tfd - FER B Az ¥ = & #A i il N
TR BB T = 1 796,

/) -MRHEREE T = 1 796,793 | KGR L 190 m2
(EEBT)
WA EO0. 21kg/m2 (nAgTe) PEMREFTE T VIR

R T 53 m2
(P&
BAEO0. 21kg/m2 (nAgTe) PEMREFTE T VIR

WA IR T Y 1 24, 078, 859

A T X 1 8,366,903 | SHHLHEAE 36 m
225X 210 h=65 HDZTT7 ;

HEKE 14 m
(EERTHEAK)
VP& ¢ 40mm ;

HEKE 52 m
(EERTHEAK)
VP ¢ 200mm ;

BEAKAE 29 m
(FERLBEAK)
VP ¢ 200mm ;

a/))=NTU-E VR E 132 VN
(EERTHEAK)
BEAY ;

a/))=NTU-E VR E 48 VN
(FERLBEAK)
EHEL

Mg T = 1 8,386,922 | SGHTHIHIES - BE A 162 m
BEEE £90cm 24-12-25(20) (i) ;

B 1 X
(IR 2 45)

-6 - E ta2@d Ui




TH4 | BERE3FRABEGEST (P25—-—P28) T.H

TEHEX Sy - THE - R B {7 % & A bl A iR
WEEK L 2 3,437,172 | @21 628 m
VE £% 54mm
WEE K 16 m
JESHEMRE b4
7T VE ) AR 2 (eS|
Lﬁxéﬂ% 245 SUS 400X 500X 202~243 t=2mm
77 VR /Mpx% 4 &
TEYEH 245 SUS 400X 500X 202~260 t=2mm
2 FH B A L 2 2,279,572 | P& N W:Rh 1Mt 106 m
W& 1. 1m 708 VEREA ;
FRATHE T = 1,561,910 | Mz 72 m
AR T 2y 46,380 | $HR 1 K
(KEFEAR)
B FEA A4 200 X300X13 ;
) - M e e E L = 11, 357, 984
a8 1. = 7,199, 541 | #i F & 1 =X
(P25~P26) (P27~P28)
i T2 1 X
(P26~P27) [#fH]
B-EHEY 257 7 b L 1 X
FEE# 1T 2 3,038,043 | HKIERS# 1 =
[#%[#]
Y779y Bl 1 =
(P25~P26) (P27~P28)
Y779y Bl 1 =
(P26~P27) [#fH]
B AR L X 1,120,400 | %V H:AE 1 X
(5 q = 3, 120, 500
- 7= E A2 s SN 7




TR

=CN
=

T
s

TH4 | BERE3FRABEGEST (P25—-—P28) T.H

THEXSy - THE - FE5 H7 & & # i Gl 2 N
15¥ER 1L T =X 1 1,271,900 | VE7KALERGR fifi 1 X
AZIEE P E20 1 1,848,600 |43iEF5E L B 1 Ey
[#%1H]

[P % 2V 1 234, 069, 029
Hm IR E E20 1 34, 353, 170
e SLHITIE: X 1 2, 005, 170

Bl s 2V 1 63, 170 | B FE R AT ~FERLE 1 ey
BUGBREIUEL (REH L) 2V 1 1, 942, 000
sty (R L) 2V 1 32, 348, 000
ol T 2V 1 268, 422, 199
TR e gL E20 1 71, 722, 000
(L5 5 E20 1 340, 144, 199
T AT 2V 1 345, 161, 705
— i PR E20 1 49, 908, 295
N E20 1 395, 070, 000

-8 - E ta2@d Ui




